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Part-A /%7 - &

~ T AddaRu

7. [+ means %, X means - , + means X and 7.

MENTAL ABILITY / ARt gvaar

Find the missing set of leners in
YWZX : USVT ;; MKNL:?

(A) IGHA
(C) 1G]

(B) IGJH
(D) IGHH

Ram is 5 times as old as Shyam_ If their

difference of age is 8 years, then how old
is Ram?

+() 8Byears " (B) l0years

(C) 12years /. (D) Syears
From the set of numbers given in four
alternatives, which if most similar to the
sct (1, 8,27)? ..

(A) (64,125,216) (B), (5.12.32)

(C) (60,79,86) (D) (33,67.73)
Which diagram cormectly illustrates the
relationship among: Carrot, Food.

Vegetables?
() L ®

Q0 4D

*Cyclone’ is related to “‘Anticyclone’, in
the same way as ‘Flood” is related 1o

Choos¢ the best option -
(A) Devastation (B) Havoc
(C) River (D) Drought

Which diagram best illustrates the
relationship among: Pigcons, Birds, Dogs?

(A) @ (B) OOO

© (D) © o (©) ®) © L "

5 ﬁnﬁw&mmaﬁzﬁw@aﬁm

Hifag —

YWZX : USVT ::rM!QIL: ?

(A) IGHA. . | "(B) IGH
(C) 1GN (D) IGHH

2, . XM # I§ @WH A 5 T W B IR ST

1 B 5w A 6 A @ R &, A I A

o1 OH 27 .
(A p 7 (B) 10T
(©) 127 m) sad

3. Ry 7y ar fwad 3 4 $F w Ry 7Y

e (1, 8, 27) & wWallE w87

(A) (64,125 216) (B)
(C) (60,79, 86)

(5.12,32)
(D) (33,67,73)

4. TR, @ v, afiemy ® # - W fam

wé A el o @

(] (B)
0 "D

5. ‘g HWeta # wirmrae 9, o0 R

e Hata E gl
| ST fee T -
(A) waré (B) =
© =4 ®) @

6. TR, 9RA, T B Wi B B -

fors WA @ Profia == e 8

“@® "0

S
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—means+, then2+8x16-4+2=17
A) 4 (B) 8
(C) 10 (D) 12

B. Find the missing number in the given
* series:

4,7,11,18,29,47, ccrrrenyenen 23,199
(a) 76 ®) 70
(C) 95 @) 105

9, Poles:Magnet::7: Bancry‘r
Correct analogy for the abave is -

(A) Energy
(C) Terminals

(B) Power
(D) Cells
10. Choose the pair in which the words are

differently related from the following -
(A) Broad:Wide (B) Light: Heavy

| (C) Tiny:Small (D) Big:Large
'11.  Value of 0.003 X 0.02is -
(A) 0.6 (B) 0.006

(C) 0.0006 (D) 0.000060
;_iz. Find the missing number in the matrix?
I 72 |24 |6
f 9% |16 |12

108 |2 18
A 12 ®) 16
(C) 18 o) 20

Directions:(Q.13-14) Study the following
number line and answer the questions that

IR + &1 7AAT X, X T wOwd —, + T
TR x 3R — o1 Aadd £ &, @
2+8x16-4+2="7

(A) 4 (B) 8
(© 10 D) 12
8. Pyt A 3 g wom T AR -
4,7, 11, 18,29, 47, cvvrrerrneennns123,199.
(A) ' 76 i (B) 70
(© 95 ®) 105
9. g!:‘giﬁ::?:ﬁeﬁe'\'f '
TR @ o 8 e © -
(A) o ®) ﬁmfx
(©) =FEe ®) ¥

10. B 3 ¥ owTa TR @ AR @Y S

(A) free:der (B) T AR

(C) oY : o (D) TSI fama
11. 0003x0.02 T 51 & =
(A) 006 (®) 0.006
(C) 0.0006 (D) 0.000060
1. PEisguwsmmam g ?
72 |24 |6
96 16 |12
108 |? 18
§
A 12 (B) 16
(C)y 18 (D) 20
AFwfr13-14) B RY W/ B @ I
TEIH IR S —

follow- 759523594850545935595
75952359485954593559535 3504525356589
9452535659 :
13. How many times do the two consecutive  13. st a” QTR R g IS S T H
numbers have a difference of 2? 2 T W &
(A) 5 B) 7
(A) S m 7
) 9 o 8
) 9 (D) 8
[EETYTEC-20](Series-B] Page 3 of 32
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16.

17.

18.

19.

20.

How many times is 5 followed by '9*7?

But an such pain, 3 should not come
betae S0

Ay 3 m 4

whr s m 6
The neat term in the series is-
82 B 2B 8, vovvniiiiiin,

Ay 9 (m 29

o 1 m M
“ind the odd one out -

1 2 K]

HE Y = Q ! D
Ay nm 2
3 - (D) 4

11 378 cuins consist of | rupee, 50 paise
and 25 paise coins, whose values are in
the ratio 13:11:7, then number of 50 paise
coins will be -

(A) 136 ;) 133

o 132 (D) 128

In a cerain code, STYLE is wrllen as
UVZIC and BLUNT is wrillen as
DNVLR. How is MOULD written in that
code?

(A) OQVIB (B) KMVNT
(C) OQSNF (D) KMTNF

Mike stans from his home and drives
10 miles towards west. Then tums to his
nght and dnives 10 miles and then tums to
his left and drives 5 miles again tuming to
his left, he drives for 10 miles. Finally, he
turns left and drives 15 miles. What is the
shonest distance of his present Jocation
from his home?

(A) 0O miles () 50 miles

(C) 30 miles (D) 15 miles
The average age of Divya and Daksh is 22
years. Il Surbhi's age is added to it then
the averape of their apes becomes 28
years, What is Surbhi’s age?

16.

20.

Qapd) §R 8 W a0 mn ¥ TR
oitgl ) '8 R ued 'a* I mie-

W 3 am o
) 3 m 6

Aol a7 aprar T &-

8, 22,8, 28, B, cuveerananne

(A) 9 m 29
) »n m M

arfm @ o R -

1 2 3 1
. g == Q
(A) 1 m 2
(© 3 D) 4,

afe 370 Rrowi A @ wad, s0 & WA 25
R & fime O, R e o
1317 B, W s @ REwl W
-

(A) 136 @m 133

(© 132 m) I28

= T A, sTyLe @ uvaic fyan o &
T3 BLUNT ¥ DNVLR foran wmm &) w9
T § MOULD R foran wmem?

(A) OQvIB ) KMVNT
(C) OQSNF (D) KMTNF 1

EE o W A P AR 10 W aRam |
N wE ww| R TR W g aw
10 A9 =a R R 7§58 = 5 99 uaq
X R A aidf g3 W 10 A9 7o) am
7 T 3R gEar & R 15 AN woar 214
TS AHIAE WA A IAE R ot g8
o 27

(A) o % a M) so W

(C) 30 ¥ (D) 15 % |

fean wur a0 afvm 2af 8 ol
D s e,
I 28 iR
v’lwmmﬂm ; 81 R

(A) 37 years (B) 3R years (A) 3rad (B) 38 af
(C) 39 years (D) 40 years (C) 207 (D) 407l
[EETYTEC-20][Series-B] Page 4 of32

21, In on examination, Raj got more marks
than Mukesh, but not us many ns Priya.
Priya got more murkhs thun Gavry and
Kuvita,
Mukesh, but his marks are not the lowest
in the group of five, Wh is the second in
the descending order ol marks?

(A} Priyn

() Kavia

(C) Raj i
(D) Cannull\cdclcmﬂncd

22. Introducing n boy, a girl said, “He is the
son of the daughter of the father of my
maternal uncle’. What is the relation
between the girl and the boy?

(A) Niece=Uncle

(I8) Sister - Drother

(C) Aunt <% Nephew

(D) Sister-in-law and Brother-in- law
23, Which of the following is not relaled 1o

Gowavy gt less  marks  than

the others?
(A) Hamp () . Guilar
(C) Flute (D) Violin

24 Among five friends, A Is heavier than B & |

D, C is lighter than D. B is lighter than D
but heavier than E. Who among them is

the heaviest? !
(A) B m C
(C) D o A

25. A is sister of B, F is daughter of G.Cis
mother of B. D is father of C. E is the

21,

22,

i ufen A, wa 1) gdw A varg e MA,
Py Rm Rrd sd@y Qe wy g
afn A s s M) Mea mogEn D
am ala gy, weeg R afm g vt
T W Tl N s W amdd wawen A
IR R O ak 87

(A) fam

() wiae

(C) I

() wE A8 IR

u‘rﬂ’l‘rrs"ﬁw?- m‘d\lﬂa’sﬂ‘-\m
melmwm mmﬂ%?
(A) el -

1)) wﬂ!a—mé

(C) e — wdlan

(D) W — S

fr= A D T R D Wi T8 8
(A) @m B frer

(C) awgh (D) A

dfa sl 4 A.B 3R D ¥ gE A WA &)

C.p # ga ¥ &5 &1 B.D ® qern A
T=w & afea E A wrh &) FW wE W
A 2.

(A) B m C

(C) D m A

ABR AL EGATH LI CBA
m%lncmﬁmuﬁbﬂmam

motherof D. A is related to Das — FI DA AN R

(A) Grand daughter (A) 9

(n) Daughter (B) A

(C) -Daughter-in-law © -

(D) Sister (D) 3=

26. Find the odd one out from the following = 26, fr= A ¥ oETd A I AfE —
(A) Island (B) Coast (A\) #9 (B)
(C) Peninsula (D) Oasis (C) wWiadm (D) TafaEm
Page50of32
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27. Find the odd one out ~ 27. P & R s @ ga AT~
(A) Clove (B) Cinnamon (A) (B) ZreAE
(C) Pepper (D) Apricot (©) wreh fd ) g
28. In a certain code language, BAT is coded 28. fFf) &g Wl # BAT i 23 foran ol 2
as 23, then how will CAT be written in the @ I@ @z wm A CAT T o
same code language? wem?
Ay &= ®) 23 @A) 22 ®) 23
) 24 (D) 25 (C) 24 o 25
29. There are deer and peacocks in a zoo. By 29. Wﬁmﬁmsﬂ?ﬂ?ﬂmm
counting heads, they are 80. The number ﬂﬁ?&lautlmﬁﬁmmgl
of their legs is 200. How many peacocks ey AR &7
are there?
(A) 20 (B) 30 (A) 20 (B) 30
(C) 50 (D) 60 (C) S0 (D) 60
30. Gunjan spends 75% of his salary and 30. wmmmnmﬂdmt.
saves T1500/- per month. His monthly a1 1500 ¥ WRAETE RN R SwE WIS
salary is - Eocl
(A) 5,000 (B) 5500 (A) 5.000% (B) 5500%
(C) 5.900 (D) 6,000 (C) 59007 (D) 6,000%
31. The next digit in the scries is - 31 TN e ¥ e oF @ -
2,5,9,19,37.7 2,5.9.19,37,7
(A) 75 (B) 78 (A) 75 (B) 78
(C) 80 (D) 73 (C) 80 (D) 73
32. Fill in the blank - 32, Rew wE R -
SCD. TEF, UGH. .......WKL SCD, TEF, UGH, .......WKL
(A) CMN (B) UN (A) CMN (B) Ul
(C) VU (D) UT (C) VU (D) UT
33. If Monday falls on the 1" of October, 33. uf% yeell yeg@ H WHAR gear g, o 99
which day will fall three days after the &3 @ dm @ & O RBF s # W
20 in that month? IR TIM?
(A) Monday (B) Tuesday (A) WrER (B) WTHAR
(C) Wednesday (D) Sunday (C) TR (D) @R
Page 6 0f 32
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Directions (().34-36): Read the following
passage and answer the questions that
follow -

In a survey regarding a proposed measure
to be introduced, 2878 persons took pan
of which 1652 were males, 1226 persons
voted against the proposal of which 796
were males. 1425 persons voted for the
proposal. 196 females were undecided.

34. How many females were not in favour of
the proposal?
(A) 430 (B) 496
(C) 586 (D) 1226
35, How many males were undecided?
(A) 31 (B) 227
(C) 426 (D) 581
36, How many females voted for the
proposal?
(A) 430 (B) 600
(C) 624 (D) 640

37. Observe the given pattern and find the
missing number -

8 10 |12

3 |? 5

48 |80 |120
A) 2 '(B) 3
() 4 D) 5

38, What will be the probability of getting an

even number in tossing a dice?

3s.

.

A (¢ 34-3) : Prefafo wain
R M Ry M weEl B e ¥ -

Ty fms @ s waeer 7 2878
At A wr faar Rl 1es2 sref & 1226
it A P & faas wa sen Red A
796 e A | 1425 FN A AN wa e
@ fea 4 Ran) 106 3RA gfEar & oA

PP ST

(A) 430 (B) 498
(C) 586 (D) 1226
ey e gfden 5 &?

(A) 31 (B) 227
(C) a28 (D) s81

ferh afal 3 figs @ fea ¥ ma Ra?

(A) 420 (B) €00
(C) 624 (D) 640

Ry T wfEE @ sEeE & SR RgE
F® Tad -

8 10 |12

3 ? 5

48 |80 120
a) 2 (B) 3
(C) 4 D 5

F TR @) SUTER W WE §En B S &
mifrsar a #?

Scanned with CamScanner
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(A) 14 ®) 16 (A) 14 (B) 116

© 13 D 2 © 13 o 12
39. If four dozen of oranges cost T 160, then 39. afr 4 TS WA @ @vTa 160 T B W 2

what is the cost of three oranges? Had @ arma e e

(A) T8 (A) 812

B 9 (B) 912

() Tl (C) nt

(D) None of these D) T A A
[EETYTEC-20][Series-B) Page 7 of 32




40. The calendar for 1990 is the same as for - 40. =+ 1990 o wam o W @ L

41. "Dog’ is related to ‘Kennel', in the same 41, ‘gar wifw & F@-w ¥ T TR
way as ‘Bird" is relatedto ................ 'éfqu waRa f it )
Choose the best option - mmmgﬁ
(A) Pen (B) Chirp (A) FoA (B) @eRd
(C) Tree (D) Cage © s (D) ffork

42 In the given diagram below, circle 42, A @ ¢ argfy ¥, o T & wfdEETE
represents strong men, squarc represents g, af qarn & S gou, P wam &
tall men, triangle represents army officers. #fE sferd | P o3 A e

Which region represents arm ;
y officers ?
P s waren &, o 9 & w wfdweh T €

& =
(A) 1 B) 3 Ay 1 ® 3
(€ 4 o) 2 () 4 ) 2
43. Which of the following is different from 43. Frenfa arpfo) § A =47 I F = 22
the other figures?
& @ ®) j (A) @ (B) C
© A ® Y .’ ™

44. Decpak is the brother of Ravi. Rekha is 44, &um 32 @1 wrd &) ¥
the sister of Awml Ravi is the son of ﬁtmmgwt:a‘tm:g:r?mﬂ?;:

Rekha. Then how is Deepak related to ey 7

Rekha?

(A) Son (A) 93

(B) Brother (B) g

(C) Nephew (C) e

(D) None of these (D) 1 ¥ T T8
[EETYTEC-20][Series-B] Page 8 0of 32

45. Inacerain code language, 45, v fftoa 3z v §
(i) *pit na som' means ‘bring me (W) ‘pit na som' 1 34 & ‘bring me
water’ water'
(1) ‘najotod’ means ‘water is life’ Gi)  ‘najotod T e & ‘water is life’
(iii)  ‘tub od pit’ means ‘give me toy" (iii) ‘wbodpit" F e & *give me oy’
(iv)  ‘jolin kat' means 'life and death” (iv) ‘jolin kat" @1 i & ‘life and death’
Which of the following represents ‘is” in qdra W A is’ frEE gfa wwar 87
that language?
(A) Jo (B) na (A) Jo (B) na
(C) tod (D) lin (©) 1od D) lin
46. Simple interest on 73,600 at 7.5% per 46. 3600 ¥ W 75 ufoera affes = @ @ 2
annum for 2 years 4 months is - a4 4 W T WURY TTA B —
(A) T605 (A) 6052
(B) 610 (B) 6102
(C) T620 (C) 6202
(D) None of these (D) T & T A
47. A goods train runs at a speed of 47. @ wamd 2 @ v R A IR |
72km/hr and crosses a 250m long platform e T8 & 3R 9§ 250 M TE UF HEHH
in 26 seconds. What is the length of the aﬁxmaﬁmmaﬁg,ﬁwﬂ@
goods train? o wré frad i
(A) 240m (B) 250m (A) 240 F (B) 250 ¥
NOy=ere )i (© 20 # (D) 300
48. Nitin ranks 18" in a class of 49 students. 48. 49 OTH W T& } fifm 18 & W W B
What is his rank from the last? S 90 | 9w wE e
(A) 31 (B) 18 (A) 31 B) 18
() 32 m 19 (C)y 32 (D) 19
49. Find the 0dd one out - 49. s @ I AR -
(A) Crusade (B) Campaign (A) uigE (B) Ffwva=
(C) Expedition (D) Cruise (C) = AT (D) WE TdeA
§0. Which of the following is the smallest 50. I ¥ FaH UIeT W% @ W87
number?
(A) 15/16 (B) 16/6 (A) 1516 (B) 166
(C) 78 (D) 1112 (C) 78 Mo 1112
[EETYTEC-20][Series-B] Page 9 of 32
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51.

52.

53,

55.

Part-B / 5rr—-3
GENERAL AWARENESS OF RAJASTHAN / Troe &) @ s

The rulers of which dynasty ruled over $1. /twameht @ere T8 TERA” W 1@ W@

arustic  splendour city ‘Chandrawati® 1281 v ¥ fra au & AR F
during 11" and 12% centuries?

ET?
(A) Gunara - Pratihara

(A) — wfoER
(B) Parmars of Abu B '],th*
(€) Chauhans of Sambhar ® .

(C) wnRr & drer

(D) Guhil - Sisodia
(D) Tfew — fRrfe

52/ &mure, IoRu™ AN AP T 0@ e
UEE, q e & -
(A) wm qear & &9 |

(B) wm aftrard & & #
(C) & ydal & w9 §
D) s da & wY A

Kshetrapal, an important aspect of culture
of Rajasthan, is worshiped as -

(A) A village deity

(B) A village officer

(C) Anancestor

(D) A saimt
Which of the

_ ) following  musical 53. A | ¥ ro-g3, o g TE
?nstrument. 15 not a chordophone B?

instrument?

(A) Alghoza (B) Kamayacha (A) e (B)  wrsraer

(C) Jantar (D) Ravanahatha (C) W (D) ¥I@vT &een
Which is the smallest district of Rajasthan IREE A dAvd B gfe ¥ R o
as per area? foran @ &

(A) Dholpur (A) e

(B) Bharatpur (B) ¥age

(C) Karauli (C) xS

(D) Sawai Madhopur (D) ward ey

. b IIEAD i W ¥ )
The period of which ruler of Kota, is 56,/ @®rer @ &3 T W, B W

The apex academic organization for 55,

educational planning, implementation and
evaluation for school and teacher
education in Rajasthan is -

(A) RSCERT, Udaipur

(B) IASE. Bikaner

(C) DIET, Jaipur

(D) RIE, Ajmer

e A fRaen v s fer g
Pretor, frarwam w2 gearew @ fog e
N wres ¢ -

(A). 3. ta . € ar A, IR

(B) g v qa § dorR

€ ¥ € £ A (Erg). R
D) 3 ard §, s

[EETYTEC-20][Series-B]
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56.
TR W G Anar
supposed to be the excellent period for the :;_1 ferfc &1 o= @
Kota School of Painting? A) Rie 1
(A) Maharao Shatru Sal Singh | (B) wewma favin fre
(B) Maharao Kishor Singh (C) WERTE TEEE fiie 1
(C) Maharao Shatru Sal Singh I1 (D) wEw e R 1
(D) Maharao Ummed Singh 1 _
§7. Maharaja Sawai Jai Singh of Jaipur built 5175 SR & HERTON HA§ HArE j fa et
the observatories at which places? 1y Aeremrarsit &1 Fsior weman on
(Select the right group) (ad W &1 TEA )
(A) Jaipur, Varanasi, Ujjain, (A) TR TR I9AA, AR,
Allahabad, Patna
(B) Jaipur, Varanasi, Ujjain, ® . §, v, g, feh
Mathura, Delhi (© 5 @ [y .
(C) Amber, Bundi, Delhi, ol "
Allahabad, Ahmedabad JEHEET i
(D) Jaipur, Ujjain, Mathura, Jhansi, (D) YR, STAA. WY, , 9
Patna
58, How many members are elected in the Sawm oz # o A e wea g
Indian Parliament from Rajasthan? o &2
(A) 20 B) 25 (A) 20 (B) 25
(©) 40 D) 35 (C) 40 (D) 35
§9. Where was the center of Revolt of 1857 in 59%31’“11’-! # 1857 & WA 1 F= TE U7
Rajasthan? (A) WO
(A) Jaipur (B) TR
(B) Jaisalmer ©
(C) Sri Ganganagar TR
(D) Nasirabad (D) -TEwaEg
60. Which of the following is the correct pair 60/ T @ @&t & fred awh Wp #
of rivers of Rajasthan falling in the Bay of qﬁﬂﬂ'ﬂﬂg‘ﬂﬁﬂﬁﬁmm
Bengal? (A) FTETEAT 7 AT
(A) Kalisindh and Jawai ® 8 v o
(B) Mahiand Parvati © T w@ =
(C) Luni and Chambal ) @R MR T
(D) Kalisindh and Gambhiri N
61. Falku Bai is associated with - 61. g TE mﬁm; -
(A) Bhavai Dance (A) ward T
(B) Chari Dance B T _
(C) Kalbelia Dance (C) wTeaferar Jaa |
(D) Terah Taali Dance (D) REaw I A

[EETYTEC-20][Series-B]
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62.

65.

Where are “Kirti Stambh™ and “Vijay
Stambh” situated?
(A) Chinorgarh

(C) Jodhpur

(B) Rajgarh
(D) Barmer
To which place, martyr Bhil girl Kali Bai
was associated?
(A) Rastapal (B)
(C) Bichhiwam

Sagwara
(D) Gorakheda
What is the sex ratio of women, as
compared to 1000 men in Rajasthan,
according to the Census of 20117

(A) 921 (B) 928

(C) 955 () 917

The Plateau of Bhorat is spread in which
districts of Rajasthan?

(A) Udaipur, Rajsamand

(B) Banswara, Dungarpur

(C) Dungarpur, Pratapgarh
(D) Chinorgarh, Udaipur

Which of the following pairs of districts
has lowest literacy rate as per 2011
Census in Rajasthan?

(A) Sirohi and Pratapgarh

(B) Jalore and Banswara

(C) Jalore and Sirohi

(D) Jalore and Pratapgarh

Which city is situated at the bank of river
Ghaggar?
(A) Hanumangarh (B) Ramgarh

(C) Ajmer (D) Jaipur
Which district of Rajasthan has highest

(B) TTATE
(D) "RAS!

64. N3omyr 4 af 2011 A FATTN B IFTAR,
1000 goui @ yEwA ¥ fEd @ W @

fermmara R 87
(A) 921 (B) 928
C) 955 (D) 917

65.\/ ¥RE T YBR wogE @ fr fral 8 den

g &

(A) TITIAR, I
(B) dTeraTel, §IRR
(C) IR, W
(D) frefere, saaR

66. WU 2011 @ YFAR IGRUE B

frafafem % 4 = Al @ 9R A WA
T AR 2 87

(A) R st warore
(B) e MR divwarer
(C) wielR ok AR

) el 3R wamTe

677 UTR 78 B M aw TR A W 87

(A) ETTATE
C) IR

(B) TG
(D) AR

68. zouaﬁmm*awwma‘:m

t A
69. Who is credited 1o popularise the 69.\/41“1“ @ @ d ﬁﬂ:ﬂ  gonmd
Manganiyar and Langa folk artists? = @1 fan R o @
(A) Komal Kothari (A) @ B

(B) Devi Lal Samar (B) TS A
(C) Col. James Tod (€) T I <8
(D) Kripal Singh Shekhawat () Fua fae @
20. Which folk deity's wife became Sati after 70, R @@ 2@ A aeht TR TG hdbo

the death of her husband? w8
(A) Mallinath  (B) Harbuji (A) w=iE (B) EETN
(C) Tejaji (D) Deviji (C) R D) A

71, Which of the following crop of Rajasthan 71.'\/#“1“ # fra § A A W wE TS
does not benefit from *Mavath'? A wnnfaa 78 @d ¥?
(A) Wheat (B) Gram (A) T (B) o
(C) Mustard (D) Cotton (C) wH (D) Furd
'ri\/ﬁariﬁaﬁaﬁzmﬁmm@"

. (A) F T F T
(B) eger TaTe B TR W
(€ W& TR F T @A A W
(D) = OF & ITE W

72. When is the song ‘Jala’ sung by women?
(A) At the time of well worship

(B) On the occasion of Jal Jhulani
Ekadashi
(C) On visiting the bridegroom’s
wedding place
(D) On the occasion of Teej worship '
73. One of the famous attractions for tourists 13",/?WRQ‘F! &1 mverm s udewmt & g
in Rajasthan is Mandawa town, which is

wrEd = B &, o wina @ -
famous for -

(A) @1 wmerea 3 fag
®) = g
(C) womraTa & fax
@) fefy i v AR @ R
# e A aegfl 3 R
mﬁmm.maﬁﬁmm

(A) Military Museum
(B) A group of temples
(C) Royal Palaces
]
(D) Painted Havelis and Murals
74. The famous painter Baldeo, who painted 7
the manuscript of ‘Sheikh Saadi ki

g

nned with CamScanner

Sca

ictan’ hich style of [/ T a?

literacy rate according to Census 20117 R A walfrs wmr =3 & Gulistan’, belonged to whic yie

. ' ainting of Rajputana? Aa) @ ®) IFR
KAy, S o . (A) g (B) = ¢ .

. (A) Bundi (B) Alwar o R S
(C) Sikar (D) Alwar (C) W (D) arday (© Deogarh (D) Kishangarh e

I D R——
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75,
Lipimala™?
(A) Gaunishankar Hirachand Ojha
(B) Bishweshwar Nath Reu
(C) Ramkaran Asopa
(D) Muni Jinvijay
76.  “Jhamarkotra Mines’ is famous for -
(A) Lead-Zinc
(B) Rock Phosphate
(C) Calcite
(D) Uranium
77. The author of Rankhar is —
(A) Nand Bhardwa;
(B) Malchand Tiwari
(C) IJitendra Kumar Soni
(D) Madhu Acharya *Ashawadi’

78. Which was the last Princely State of
Rajputana, accepting subjugation of East

Indra Company?
(A)  Kota (B) Udaipur
(C) Sirohi (D) Jodhpur

79. Out of the following which one is not the
example of folk - painting?
(A) Phad
(B) Bani - Thani
(C) Pathwan
(D) Sanjhi
80. Who was
Kalibangan?
(A) S.R Rao
(B) A.Ghosh
(C) B.K Thapar
(D) R.C. Agarwal
Bl. Where is Darmah Wildlife Sanctuary

the first excavator of

Who is the author of ‘Bhantiya Prachin’

75{/wmmmﬂmar$wm€7
(A) e ERra S
(B) fvdvay a1 ¥
(C) et =
(D) 3R Rrefea
764 / FrRees @M v & -
(A) Hra-wwm & fag
(B) ir-whime @ fag
(C) dwame @ fog
(D) s & R
77\ rar & daw § -
(A) =8 wRg™
(B) wreraz foard
(€) frdz TR wrh
\/cm L R
78\ TrogErn A afm Rarea #ta @ o, R

fiftn = hewm s @ s @
Wer faar

(A) ®e (B) TTAR
(© fwé @) SR
79.. = A A I @ W e w1 s
8 &2
(A) ws
(B) @t — aof
(C) wemard
(D) wrsh

w.,mﬁmmmm

(A) THIR. @
(B) ¢ um
(C) §ia umw
(D) a3 s
81. e A wARvg wEf fem §2

situated?

(A) Ajmer (B) Kota (A) o (B) ey

(C) Dholpur (D) Jodhpur (C) drap (D) m
[EETYTEC-20][Series-B) Page 14 of 32

g2. With which of the following dances,
musical instrument Jhanjh is used?
(A) Kachchhi Ghodi dance

(B) Bomb dance
(C) Terah Taali dance
(D) Gavari dance

g3, In which disirict of Rajasthan, the famous 83,
Amar Sagar Jain Temple is situated?

(A) Barmer (B) Jaisalmer
(C) Jodhpur (D) Pali
84. The Secretary of Gram Panchayat is - 84,
(A) Pawwan
(B) Sarpanch

(C) Up - Sarpanch
(D) Gram Sewak
85. Who is the Chairman of West Zone 85.
Cultural Center, Udaipur?
(A) Govemor of Rajasthan
(B) Chief Minister of Rajasthan
(C) Tourism Minister of Rajasthan
(D) Divisional Commissioner of
Udaipur
86. The boundary of Rajasthan touches how 86.
many state boundaries?
(A) 5 (B) 6
(C) 4 (D) 3
87. Which two districts of Rajasthan have 87.
population density more than 500 persons
per square kilometre?
(As per census 2011)
(A) Jaipur, Dausa
(B) Jaipur, Bharatpur
(C) Jaipur, Alwar
(D) Jaipur, Banswara

88. Which dynasties were ruling in Delhi 88,

during the reign of Maharana Kumbha?
(A) Slave - Khilji Dynasties

(B) Tughlagq - Sayyid Dynasties
(C) Sayyid - Lodi Dynasties
(D) Lodi- Mughal Dynasties

BLW“”&MW*“W

mmﬂmm&mmt’

(A) wuh O @

(B) @ 7A@

(C) ATEmre A

() T TA
uﬂnwwaﬂqﬁ?.ma‘,ﬁm
ford % amaftea 7

(A) AER (B) TR

(C) SR (D) ure

o dara @ wiea g € -

(A) wZard

(B) ¥R9d

(C) S9-—<wEa

(D) T HIE
mmmﬁ.wﬁm
= &

(A) TSR & U

B) TR B A

(C) T @ wdeA

(D) STR B T HIF

E— kR R LR
e 87

(A) 5 (B) 6

(C) 4 (D) 3
oo @ 7 1 a1 fordl § daEeEn uEd

s00 =i wa @i A @ o ®

(GO 2011 @ HER)

(A) wagR, &

(B) SO, AR

(C) U, IR

(D) TR, EAS

wERTn T @ A o A R w7
# b TorET S ATEA °1?

(A) =@ — faash an

(B) TE® — dUT I
(C) #uz — A W
(D) & — qra

(EETYTEC-20](Series-B]

Page 15 0f 32

——— Y

canner

Scanned with Cam



89,

91.

92.

93.

Famous tourist Place ‘Samode Palace’ is
situated in which district of Rajasthan?

89, mmmww‘mﬁﬁ'

G fa o o Rua 87
aipur (B) Alwar (A) TR (B) 3T

(©) Bhampur (D) Tonk ©) R D) T

W ; ; ’

R:;:: u'.:,'; aplfrfmnma:c percentage  of 90, YroRym 1 AAwE WA @ w6 @ fdad
s surface area to the surface ufama @ anm :

area of India? . = .I

A) 1% B) 8% R =

(©) 15% M) 5% = BN o

:;l}:ch of the following districts of 91. Frfifad ¥ 4 worwr @ frg A @
jasthan  has  shortest international :

boundary? sieriefa o wad o @2

(A) Jaisalmer (B) Bikaner (A) TER (B) @FTR

(C) Barmer (D) Ganganagar (©) arsiw (D) T

When was “Rajasthan Housin e
. g Board” 92,
established t . :
B Siaat © cater the housing needs in
(A) 08 March, 2008
(B) 24 February, 1970 (A) o8 rd, 2008
(C) 31 July, 1997 (B) 24 wvEd, 1970
(D) 02 October, 1986 (C) 31 9ard, 1997

. (D) 02 3aTaAR. 1986
Match the List — 1 10 List — II and choose : ‘
se 93, -1% =
the correct answer from the codes given i ol s ply

below the lists — it & A Ry wy/aE @ 3@ R oW

I Ay wadt smaaaast 0 gfd &g
;ggmmmma"aﬂmmuﬂ

—

o4, The founder of the Siohi  Rajya 94, Foié) o WoImmsd @ IReqas ai =
Prajamandal was - (A) warard e

(A)  Kanhaiya Lal Mital (B oprw e Faad
(I3)  Bhupendranath Trivedi (€) mwa wd WE
(C) Gokul Bhai Bhau (D) HreTeTa ard
(D) Mitha Lal Vyas

95, The maximum number of members in the 95,

wonrE § Affee @ wewn @ e

Council of Ministers in Rajasthan can be - @ e -
(A) 25 (B) 30 (A) 25 (B) 30
(q 35 () 40 (C) 35 (D) 40
96. Which part of the State is chielly 96. el Sqfa wea & W owm A g
inhabited by Bhil Tribe? frara & 87
(A) Northem pan (A) T 9T A
(B) Eastern part (B) q:.ﬁ HT A
{C) Southern pan (C) =l wm 7
(D) Western pant (D) ufEnd s |
97. Among the cash crops in Rajasthan, the 97. ORI § iR waar 5 e 5
e
*Nerma' type is related to - e wﬁ’-‘ N &
(A) Sugarcane (B) Cotton (A) N 5 T
(C) Tobacco (D) Jojuba (€C) a4 (D) ST |
98. Rajputana Madhya Bharat Sabha was 98. IO Fu WA H/HI N TS T €S
founded in which year? (A) 1919 (B) 1024. ]
(A) 1919 B 1924 (€) 1905 (D) 779 @ FE 3
(C) 1905 (D) None of these

99, Who among the following was not a ruler 99, Fr=ifafiy & & T SUET 9 T AES

List - I (Author) List - II (Book) u:;} l(‘a;.uas) mﬁ 11 (7w) |
- -1
I Kamidaan  a  Ajitodaya i . / -
II.  Daulat b. Kanhadade ) "
Vijay R II. <eafasm b aree? waw
IlI. Padmanabh ¢. Khuman Raso . 93 gAY
I c.
IV. Jagjivan d. Suraj Prakash / B
2 IV. Srfiea wg d. v wame
Code -
1 0 uI Iv .
el m:n :,"W
[ a
(B) b d ¢ B) b a d ¢
(C) a b ¢ d (Chab ¢ d
M d a b ¢ (D) d b ¢
[EETYTEC-20](Series-B] Page 16 of 32

of the Jodhpur State?
(A) Jaswant Singh
(B) Ajit Singh
(C) Anoop Singh
(D) Mota Raja Udai Singh

T or?

(A) wwaEa fiE

(B) wfom e

(C) u f&w

(D) wrEr Tm gea fHE

100. In which Assembly Election, the strength 100, 5 Rurrers 3719 # o T

of Rajasthan Legislative Assembly w“,

# T T 184§ TIEI 200 T TE7

raised from 184 1o 200? (A) e (B)
By Fifth
(A) Fourth { G -
(C) Sixth () Seventh wradt
Page 17 of 32
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101. The reason for under developed speech 101, aroh @ wiar @ RBRIT o

102, According to you, ‘In-Service Teacher 102. g FaraR, WaRa R
sy @ ort s &) TE T E -

103. In the development of a student, which 103. s @& g & frfafea 3 ¥ fewar

104. A teacher should have which kind of 104, & fwrs @ a9 weofid @ am R

105.

Part-C / -9
TEACHING APTITUDE / R siffversa '

and language is -
(A) Deafness after the knowledge
of language

(B) Lack of proper traiming
(C) Deafness since binth

(D) Deafness after sometime  of
birth

Training Programme is a good way of
orientation’. This statement is -

(A) Uncertain (B) False
(C) True (D) Parially
True

one of the following contributes
maximum?
(A) A good school

(B) Textbooks
(C) Rich parents
(D) Eligible and dedicated teachers

attitude with his colleagues?
(A) Negatve (B) Crincal

(C) Cooperative (D) Creative

Main function of a teacher 1s - 105.
(A) Complete the syllabus on time

(B) Giving effective teaching to the
students

(C) Guiding the students

(D) Parual behaviour with the
students

(A) Difficult (B) Moderate
(C) Imeresung (D) Effective

(A) T S B A T

B) ofva e @ A

(C) W= & TEXTT

D) W= @ GO L TA T

(A) ufafiea
(C) &1

(B) awd
(D) anfirs WA

sfywes drrem e 87
A o wEa

(B) ueUywH B,

(C) g=ar m—ﬁ‘m.én

(D) dro 7 mﬁaaﬁ(mmﬁ Eai

waR @ afgfy 8 wfRy?

(A) TFR&® | (B) MRS
(Q) WEASTE (D) TEAEE

w A I & -

(A) wrEmEd g gl wRar

B) O B s fn 3

(C) vl o1 Avfed Fe

(D) orEl & A sl 2R Fer

106. According to you, how should be the mo\}aﬁ«s HATIAR, T aeor $w e wifke?

class communicauon?

(A) @feq
(C) s

(B) wWEm
(D) wrd

?—

P R

T v @ g @ e R

[EETYTEC-20][Series-B)
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107. What is the main characteristics of 107.
Continuous  and  Comprehensive 87 i
evaluation? (A) zwd Raffd = IR @ El o
(A) Tt increases the work load on @) T Rarf 3 ves uE HeaT®A
students.
(B) It evaluates eve ct of the il 1 d WEEAD
ssadial Ty aspe (C) & qien wa ® T & A
(C) It helps in reducing examination gl
phobia. (D) “mmzj-gﬂmem?l
(D) Itreplaces marks with grades.
108. Students follow that teacher of the 108, ©TH ROy & I IS T FIFT ‘“ﬁ
$-
school - .
(A) & ST TNl & wHA &
(A) Who is according to their ideals B o
(B) Who is not partial © R vk B -
© Whom they liked 1o meet . @ a I .
(D) Who is attractive Lookingwise
109, The teacher should have command on 109. =@ = s wd & Fgo g T
his work so that - T — ‘
(A) Students will obtain knowledge (A) ©TF Rm® § = orar & Lol
from the teacher. ) -
(B) Students will be under control. (B) orF P A =
© ‘S’:e”dl:“'; will go for tuition o (C) ©TF Rme @ e Zgee 98 |
acher. y
(D) Students will get proper (D) orE & ofaa Adwm= fAem
guidance.
110. The child leams the primary lesson of 110, TEREMETH :‘r A T ARG UE q6E
responsibility from — TEI AT ® —
' (A) Home (B) School (A) =WH ®) = F
(C) Society (D) Self (C) s (D) =TI H
111. For progress of the teaching profession, 111. 314 IS @Iad & vy & fae ware
you will give maximum importance to - HETd WaTH & —
(A) Quality classroom teaching (A) ToTEETEET = e
(B) Doing rescarch work (B) IFEUHA &g T
(C) Writing good books (C) TTW gEIS! & @@
(D) To quit teaching work ) PR T | gaE
112. Teachers and Head of institution are - 112, s U9 S0 THE US §EL @ —
(A) Compelitors (A) wftregdt &9 &1
(B) Friends B) 3 m 2
(C) Co- workers (C) wEar &t &1
(D) Opponents (D) fh &1 8
[EETYTEC-20][Series-B] Page 19 of 32
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113, While teaching in the class, if a student 113,

asks you a question and the answer 1o

which you do not know, then what
would you do?

(A)  Make him sit afier scolding.

(B) Say the question is wrong.

(C) Try 1o answer his question as far
as possible.

(D) Promise 10 answer the next day.

mﬁmmwm*m“:

qur, R e anea e A 8

T W amg Far w7

(A) T wreaw famn )

(B) e @ T wEdR g9 T A7}

(C) Tud Wyd @ TR IR A I
warE &0

) Wmeﬁmmml‘

we
e

114. “For comect communication in the 114, ‘wer % Sfw vy ¥g smwEs &

classroom, it is essential that your
behaviour should be dramatic’. This

statement is -

(A) Right (B) Wrong

(C) Probably (D) Cannot say
Wrong

115.  According 1o you, the teachers should be 115.
punctual in school, because -
(A) This is their duty.
(B) If they come on time, the
students will also,
(C) They arc role model of
students.
(D) T is not necessary to come on
time.
116.  As a subject teacher, what the purpose of 116,
asking questions in the class?
(A) Discussion about reaching
among students.
(B) To keep students active and
attentive in the class.
(C) For discipline in the class.
(D) To improve teaching.

117. The aim of teacher should be - 117.
(A) To help the students clear their
examination.
(B) Overall development of the
students.
(C) To develop Skilfull behaviour
in students.
(D) To teach discrimination to
students,
118. Which teaching method would you 118,
adopt to develop creativity?

(A) Problem-solving method
(B) Story method

(C) Lecture method

(1)  Case history method

IUF awgEr qied A e Bl TE
U B

(A) W&
(C) wwaa e

(B) e
(D) wE TE THA

e wa A, feer @ v ® Raay

ar afey, FUifs -

(A) TE I Tda B

(B) ¥7Mu WX ¥ W 91 W W W
Im |

(C) A ura @ ivon @i 8 &)

(D) 9T WX AT o TE &

@ fwg s & w9 F T N g que

1 941 Sty g 87

(A) oral # Reer wah Rar et i)

(B) w2 # oAl B Afbu 7w @
#q|

(C) men # srgamer ¥

(D) fmmr 4 qur &g

s 1 Stvm 2 afte -

(A) urEl @ gfen st s A wEmEen
AT |

(B) BT T waifor Aere ww=T)

(C) vrEl @ ZaER ¥ Hyern &)

(D) vTE B Yeurg R

3w @ R ¥y Frh e

Rfr smEri?

(A) wE-ar fafy

(B) e fafy

(C) @ fafy

(D) aife sfeera fafy

[EETYTEC-20][Series-B]
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llg- For sﬂll’llﬂs kmwledge'. teacher should 119, m * f:'W. SEIE ﬂ B'T'ﬂ l"ik'! - L

be - (A) waETha

(A) Making Efforts/Zealous

(B) Aware B) ¥

(C) DBook collector (€ guT e

(D) Inactive (D) farae . . "
120. “School is a miniature form of the 120. “fTTem WA T T UreT w9 7| AT A

society”. This statement is - g -

(A) Mosily True (A) s @@ ‘

(B) Panially True (B) fiE wed

(C) True (C) ¥

(D) False (D) A
121. According to you, the fundamental 121. 9@ WargaR. U e @ dfas T 2 -

ality of a teacher is -

q:n yCheerful nalure (A) EFga wm

(B) Auractive dressing (B) aniE FIngm

(C) Good personality (C) = afea

(D) Knowledge of teaching
methods

() fem fAfa w1 =

122. How can the Comective Method be 122. & HuR Uefd @1 fra war @ fan on

encouraged?
(A) By Play-Way method
(B) By Independent study
(C) By audio - visual aids
(D) By dramatic way

wiwm &7

(A) G- =

(B) ¥@a3 ¥9 ¥ I4gA B
(C) Fm—xa §HEl &R/
(D) =resdg afs A

123. If all the students are not giving correct 123, o T § afz N o WA wae T8 2

answers in your class, then what will

you do?
(A) Explain them.
(B) Give them homework.
(C) Complain to their parents.
(D) Repeat the lesson in the class.

124, To eradicate social evils you would -

(A) Toaware people.

(B) Take resolution.

(C) Do nothing.

(D) Bring awareness through
posters.

@ ., o 319 T H?

(A) = T

(B) U= 7w T |

(C) =3 wren—faran & fvemaa &30
(D) T A 9E F FEATH |

124. wifas qudd & @ & & fog 3w -

(A) TaT F FTES B |
(B) ¥Fs a7}

(C) o & S|

(D) wwey g wmafy andn

125. Your friend’s son studies in your class, 125. 9% ¥ o §A WO T A o &

your behaviour 1owards him will be -

IED Wi F9E TAER B -

(A) Disciplined (A) sgmiEa

(C) Just like an ordinary student (C) wwr= uT3 9 =i

(D) Likeason (D) T A i
[EETYTEC-20][Series-B] Page 21 0f 32
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126.

127.

129,

130.

131.

Being a teacher, you will encourage the 126,
student in order 1o -

(A) Develop  the
Quotient (1Q)
(B) Make them sel f-dependent
(C) Obtain higher education
(D) Remain a Bachelor
Why did you decide 1o become a 127,
teacher?
(A) Tcaneamalot through tuitions.
(B) Ican teach my own children.
(C) Ilike teaching very much.
(D) I cannot get any other job.

Intelligence

- According 1o you, effective teaching isa 128,

result of -

(A) Friendly
students

(B) Command over content and
communication

(C) Experience

(D) Training

Individual or Group appreciation in 129.

technical language is called -

(A) Discipline

(B) Reward

(C) Difference of opinion among
the students

(D) Helpful in skill management

If a child is not socialized, how he 130.

would be?

(A) Like a beast

(B) Unsocal
(C) Antisocial
(D) Fully social

behaviour with

Homework makes the student love self- 131,

learning, but along with it, it -

(A) Develops logic and thinking
power among the students.

(B) Reduces the tendency 1o roam
around.

(C) Makes him/her practice the
content knowledge

(D) Causes tiredness.

A T frw B 9 A oA @ ARG
4 —

(A) s wr AwfE & g

(B) e ¥ &g

(C) <= fan W@ & 2q

D) sfaEfRa @ @ g

I g fhars & qal @u fEar?

(A) # TgyE TR g U FA wHA K
(B) # 37 @d & qeal Y g1 FHA &)
(C) R wrd g3 arafrs fa #)

(D) # o = AFh =8 o wF|
39 HergErR, wdl R ofom @
(A)  orEl A REagds amer @1

(B) urguaw] W s g FEeT @
(€) arpm '

(D) wufimer w1

afdTa ar ARs WU A e B aw
I A wEr W @ -

(A)  sgvmem

(B) TR
(C) o= 4 Favtaar

(D) T[S YT T A EWE

% @ o1 wachER a9 @, @ 7%
SR T qm?

(A)  owEg

@) A

(©)  srmrfos

®) preRE
qmﬂmaia‘hmmmmawm
0% Arg-wry uraY § -

(A) 7% va Rar v e aa @)
B) TR B w3t 3 T v 2 2
(©  Reraeg 51 &1 e e &
(D)  UTT I~ T &)

132.

133| !

134,

135.

136.

137.

Leadership is a special process,
which two best words are -

for 132. g vw fawm ofyan an =M 8, Rnvd fag
3 IPE T O qE & -

(A) Dominating - Subordination (A) WA — 3fm
(B) Dominating - Administration (B) W — WA
(C) Dominating - Slavery (C) "™ — TEH

(D) Dominating - Follow (D) W@ — ™A

for a teacher, because -

(A) The school pays the teacher for (A) Fd fou Foem S8 @@ @
this T FA £

(B) This is mentioned in rules and B) TE Wor @ fm v fafywem A
regulations of the government sifefara aar 21

(C) Learning abilities of students (C) zud faenfthar o sfrm emenm
can be known =79 B e 21

(D) This mainains Coordination (D) frm swar d S R
between leaming abilities and

remedial situations N
Before entering the class to teach, 1 134, @M ® fFmeror q oM A A Td f -
will - (A) g9 @ wE=taa TS |
(A) Make my mood cheerful. (B) T F I TEw Prerd
(B) Gaze at my face in the mirror. (©) ¥ & U @ R weras awE
(C) Carry the teaching aids for AT T T

today's lesson. o) . ,
(D) Organize my lesson plan. T A Al

It is very important for teaching 135. fimm aygwma & fog g weeapl & —
profession - (A) ST
(A) Constant learning (B) S e

(B) Higher recommendations (© R ol
(C) Teaching aptitude

(D) H & I=9 wiawd
(D) Higher percentage of marks
Being a teacher, will you suggest your 136. (& fws €9 & =, 7 a9 ¥0A gF w7

son to become a teacher ? e a9 & Te? )
(A) No, because there is nothing in (A) =81 ;ﬂﬁﬁ? T WIEE § [ A
this profession. R 1|
(B) Yes,pri? he willingly gives his (B) # uft 3¢ Vw7 & 39s foy wesa
consent for it. B 8|
(C) Cannot say (C) e = ||
(D) Yes m €

According to you, priority of the need of 137, 9@ 1@ ¥, ada+ fimn @wawn § gur @
improvement in the present education HTTTTEAT FT WraiEEar 2 —

Rydeg 5% = (A) i =1 aErEEeT
(A) Commercialization of _ }
education , (B) ¥&F9 @@ § 9599

(B) Change in evaluation system N i
(C) More use of computers in (© R ¥ Feaqer = sfehE w
education ®)

qrEaEs ¥ 43
(D) Change in the curriculum
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138. The foundation of leadership is - 138, g 1 Pl FUR A e

(A) Appreciation (A) wEl
(B) Desire 10 serve (B) @ @ FOI
(C) Welfare of the group (C) wE @ faa

(D) Nothing can be said
139. Social matunity means -
(A) Ripening of the child like a

(D) B TA TE T
139. e gfgear & ad & -
(A) TS T B IR TH

fruit.
(B) Development of wisdom in the ®) s A R @ REE Sall
tod © awws ¥ wwRw Tt @
(C) Development of social
efficiencies in the child. fa@re €
(D) Presentaion of a  balanced @) wEe @ e & ww sl
social behaviour by the child, A WIER 1 WEEA F |

like amongst adults.
140. Base agency of social development 140. TAAF—afaERt & WS fawra @
among boys and girls is - amrpe ARSI TE T 8 -

(A) School

A) faraa
(B) Parents and family :B; TR wd oRaR
(C) Community (©)

(D) Means of communication

(D) ERoT & HreH
141 If a stdent tells you about any family 141. uf¥ va farf smwer svh oRaRes wem
problems. what will you do”? ¥ anr ¥ Taran &, W o @ Y
(A) Listen to hisher problem and (A) <aat m g R ﬂ ol
suggest possible solutions. S Fa |

(B) Listen to his/her problem and o
give moral support. (B) GRS w iR = Ao

A 3|
(C) Ask him 1o discuss only study !
s Rt (© ﬁmmﬂmﬂamaﬁ
(D) Ask him not to discuss family @ fie wi)
problems. D) =& uRafes @ @ waf 58

_ N . F & foag s r
142, According to you, it is required in order 142, UH FATAR, WA ¥ NAUS & —
toleam- (A) IAYF BRI WISET
(A) Motivation by the teacher B) WM WES
(B) Common Sense ®)
(C) Cunosity (C) forsman

(D) Reading Habit (D) 9g= & 3ea
143. According to you, education develops - 143, 3M9&1 34 B, fewn & fawfya o & —

(A) Inu':l_le.clu:.lisrn (A) m
© Toews @ st
(D) Ncmcol.'thesc i ‘
) T F 3 Tf
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144, To develop the qualities of a good 14, ya) Am @ TN F frpra @ fog @A
leader, the most imporant role is of -
(A) Poalitical platform

(B) School @) faea A
(C) Famly (©) wfar #
(D) Movie theatre (D) ferm @ £

145. Teaching is an interacting process - 145. fmrm va qeeaRs @ 2 -
(A) Between teacher and parents (A) Fes 3 s & w1
(B) Between student and teacher B) oA 7 fims & ==

(C) vE T U d T

(C) Among students
(D) fows, ol SR RTEE & 7

(D) Among teacher, students and

content
146. According to you, the base of 146. s T A, srinfyas wad W SER
inter-personal relation is - g -
(A) Equality of thoughts (A) P 31w
(B) Regionalism (B) EFaE
(C) Education (C) frmm
(D) Money D) Tl — =

e & 4 Tuie ¥R F FEs

147. The base of a child is formed by primary 147.
R & 21 I IaE I1d B

level teacher, Thus his job is -

(A) Crucial (A) Foifas
(B) Easy (B) WX
(C) Difficult (C) e
(D) Important )] HEeaqe

148. In order to develop logical ability and 148. froffdl & wiFs argaRl UF Feaee
creative thinking among students. the

teacher should do - FHYAT AEg?
(A) Group discussion (A) ¢ afyar
(B) Seminar (B) FEER
(C) Debate (C) az-famE

(D) Give lecture to the students
149, According to you, what is required fora 149, o a3, e wm P @ fmow@

good teacher? RS ?7

(A) Popularity among the colleagues A) I FE-ofE 3 AElTa

(B) Comr_niunem _to\m'ds the B) freer w14 @ ufy ofreg
teaching profession (©) TH TR SRS B

(C) To be an effective explorer
(D) Faith towards one's own

institution
150. Which of the following personal 150. =1 & @ R @ 9 & Ao o AW

M) e wwn @ wiy fre

qualities of a teacher, do affect teaching? ) wafaa w3 &
(A) Sensitivity (A) FaAgAAd
(B) Social skills (B) wrfers HIe
(C) Physical Strength (€ T ufda
(D) Management abilities (D) W& s
[EETYTEC-20][Series-B] Page 25 0f 32
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Part-D / sT-g
LANGUAGE PROFICIENCY-ENGLISH /Wy dvraan : S
Attempt all questions, choose the appropriate option from the cnes given after each qusion-
151, Fill in the blank using correct word —

He ........... swim when he was young.
(A) mght (B) would
(o] cou.‘lc} (D) None of these
152 What she saidagrees ... what I have already heard. (Preposition)
(A) from (B) with (C) of ) a
153. Choose the correct synonym -
Abandon
(A) forsake (B) receive
(C) gft (D) grieve

I154. Choose one word for the following phrase —
“Someone appointed by two parties 1o settle a dispute’,
(A) Negotiator (B) Arbiter
(C) Mediator (D) Middleman
155. Change the following into Indirect Speech -
She said, "My father will help me.”

(A) She said that my father will help (B) She said that her father would help her.
me

(C) She said that her father will help (D)
her.
186. Choose the correct article —
Edward said he s

She said that my father would help her.

.............. European.
(A) an (B) the 5
Cr a (D) None of the above
157. Choose the correctly spelt word —
(A) Perceive (B) Parceive
(C) Percieve (D) Perceave

158.  Which part of the sentence has error in it?
The nise and fallVof the tide/are due/to Junar influence.
(A) The rise and fall (B) of the tide

(C) are due (D) 1o lunar influence

159.  Choose the comrect antonym for the word *Malice” -

(A) Honour (B) Ecstasy
(C) Goodwill (D) Happiness
160. Anaveragecow ............... one thousand four hundred ponds.
(A) weighs (B) weigh
(C) weighed (D) will weigh
[EETYTEC-20][Series-B] Page 26 of 32 D
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161. Identify the kind of sentence -
What a fool you are!
(A) Assertive Sentence (B) Interrogative Sentence
(C) Exclamatory Sentence (D) Imperative Sentence
162. Change to direct speech —
He asked who lived next door.
(A) He asked, “Who lives nextdoor”™  (B) He said, “Who lived next door””
(C) He asks, “Wha lives next door.” (D) He said. “Who lived next door ™
163. Choose the word that is spelt correctly —
(A) comittee (B) hballoon
(C) succesive (D) fullill
Directions: (Q.164 to Q.168): Read the passage and answer the questons th:l follow —
A little man beside me was tuming over the pages of a magazine quickly lnd_nﬂ\wfh'-
Opposite me there was a young mother who was trying to restrzin ber son from making a noise.
The boy had obviously grown weary of waiing. He had placed an ash tray on the floor and was
making Aeroplane noises as he waved a pencil 1 his hands. Near him. an old man was fast
asleep, snoring quickly to himself and the boy’s mother was afrmd that sooner or later her son
would wake the gentleman vp.
164. What was the old man doing?
(A) Sleeping (B) Locking at the child
(C) Eating (D) Reading magarine
165. What is meant by ‘restrain” in the passage?
(A) control {(B) encourage (C) ire (D) rebuke
166. The person who was least disturbed was the ... ..
(A) observer (B) son
(C) old man (D) Ltde man
167. Thenoisewasmadeby .............ocoooiviiin ..
(A) the old man (B) the Aeroplane
(C) the hittle man (D) the boy
168. The factor common to all the people was that they wereall ... ...
(A) watching a Rlm (B) waiung for something
(€©) looking at the |lhmle boy's (D) reading magazine
playfulness
169, Menfear......cccoovnnennne death,
(A) a (B) an (C) the (D) no article
170.  1bought this watch ... ... two thousand rupees
(A) in (B) with (C) for D) a
[EETYTEC-20)[Series-B] Page 27 of 32
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171

172

173,

174.

176.

177.

178,

179.

R

185.

186.

-5

s e ;D
yum RAws 1 -
(A) 3+ B+ amw = af=ma
(©) |+ W+ ¥ = ey
AT W A wE wwm a8

@) afr + 4 sk = sfvanf
(D) ar:;+'ﬂ+atfr+w=3"il‘m

(A) A (B) A (€) T (D) ™
fa=m A A vt e Preve @ wivad T8 82 et
(A) (B) fria (C) Ffraa D)

‘o MY we ouT A, o A Y R w s w6 e -

(A) aE@T@ (B) @O (C) wwaTl (D) TEOTA
. uftg Sy MEE @ Jas § -

(A) YREUT (B) wug

(C) angm tham M) ¥ o T8

ot T AR ST TR, W WEERn W BRI [, A W R Ty -

(A) W A (B) fw A (©) wgwr @ @) i &
Prerfafa A A ey M B SEER @ -

(A) smemdE (B) aumf ©(C) wfaf (D) IR
w8 w1 faem e @ -

(A) Hrm B) FPrfa ©) e () F
A A g gETa T o e R -

(A) FTUgE 3w (B) F=I I

(C) H=x aeqg A MR o1 o (D) g WA

‘wftT @1 qafa 78 & -

(A) v (B) Sr@® () A (D) g
FITM TEEGE HAAIE ) AegEw B IETER©r T 8?

(A) aa (B) THT (€C) 79 (D) =
for Raes & 30 weag @1 WA T g3 @7

(A) uiferia (B) Rarfry (C) =rdm (D) wadm

T aEd, T TR o e @ -

(A) = gl &1 Fé @) (B) o A wfdm &d 2

(C) a1 & 3R 9 Eran &) (D) U@ B US A BH TS|
‘ag efrur W g A uri] weran o &, g @ fee uw weE g -

(A) 3= (B) &= (C) @« (D) ww
‘s oy w o & -
(A) fem s wr (B) wftar—=fea (€C) fm ol @ (D) e o9

arearn @ fow @ w& @ wel A s g —
(A) o wa fm 7w & = #a

(B) forya gy aga a9 Taw @ = Avew
(C) gaw o & arefl o & = REED

(D) it B & ae AR Fa R = oy
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189.

190.

191.

192.

193,

194,

195.

196.

197.

198.

199,

Pt 3 R ampg ara w1 AT BRI -

(A) e oz ara A e A _
(B) T SN qIE@ FEE TR ATTET R
(C) &% wah wrdra gdernd 81
M) A P wrd o 7 anaa &
e’ ufy fedw g -

(A) @ + W (B) @ + A
Remer e A B w87

(C) ary + W (D) AT+ S

(A) whRT (B) TGN (©) :mxrm (D) &&
wfy & E0fam me € -
(A) wird B) iR (C) wafah (D) wfafa

gt @ fae v we @ et A wra @ gih-

(A) Forad dam & mé B — fIE

®) @ o B a9 gaw @ - IR

(C) REd =) uil #§ Pran @ - e

(D) < I T A T G B — gl

e o) A e oeth e @7

(A) sgné (B) arufea (© sgyfea @) T
= A A IR B waw A v Ree w1 aga #fag -

(A) 9 + PR = TRPR B) W+ wWE = W
(©) pm + ward = garard m f + =R =g
fas Rwe A g W@ T wAW afga w9 A g 7 -

(A) wifta ) fafaa (C) wfm ) gfaa
e o anef & — '
(A) rFTEd (B) 7= 3 waws

(C) 3@y & Y& aren (D) s @ e
rafafra 3 @ v AR orwt |§ 98 T

(A) frdam B) Frafe © fra (o) fram
Sw T T A B -

(A) difEa (B) =iy (C) TrTee (D) fARrf
TE WE @ AR @ wol A awma gi — .
(A) TW-TFA = TR T B) o = s g

(C) TTEW = FAWW &% (D) TE-TEN = WAER "

'3 A T gEra w1 o & — L

(A) il =t o anea T sFmaTe ara e
(B) il raen 8

(C) UHHIA WER

(D) W< A BN W IA IR I ISR Faqrn

. P 3 @ e e oft auwet @) @ &2

(A) uitfx (B) GRIETST (C) wefdon (D) geid
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AT
T T ¢ WA
171. [E TETR W T - _
(A) fmm m =i (B) g i E@fal
(C) P == ) fi ot gl
172, sniferedy Y& Iaasia —
(A) T3 W s fan ®) g e e f
(©) g wE s R ) gae we s
173. =2 naw fodm fefee e =2 -
(A) 7@ ®) & © & @)
174. Ay e wrEgHRE —
(A) T TE TR ®) m g Rafa
(C) ¥ wd ofgmad (D) @ &I Brsfa
175. T e g teae 6 e - . ,
(A) T B) T (€) M @) "M
176. ‘FEE TR v REgaw v -
(A) amerd (B) sraratas (C) et (D) mardar
177. Suwiwen Rurgs gEnia?
(A) =aETEar g (B) wEm
(C) s D) wyanh e
178. % T SHRCRUTTHIGE —
(A) 7T (B) e (C) @voarg (D) =T=m
179. g=e T §3 e I & wdaAm afa?
(A) F=F (B) TE © = o) 3fE
180. @ gEw Ty sfeE T W 0 @ R sfa?
(A) fedm (B) wadt (C) w=h (D) =
181. <y e faionds & sfwr
(A) @ ®) fm (©) & D) wEd
182, 3 4@l FEEER wRITtETaaEiE —
(A) a=Tq (B) 33 (C) svEa (D) 3pmaq
183. &1 + 93 €1d] FWATd ¥ Hqafd —
(A) 379 (B) 9= (C) avga (D) 3,
184, s=tfafaay RtaaeeEesia -
(A) arewTs (B) =TerEr A (C) wim (D) ey
- 185. 99w =W & #ufymT i
f (A) 99 + 0= (B) w91+ 5= (C) 99 + 5= D) T 4+ ¥
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186, ‘aeera’ waw Wiy e & afta?

(A) T +wn  (B) dcc{+ 1 (C) @ + @4 (D) o+ @
187. ‘wrEmfemy v & e afta?

(A) T T (B) wqeff acqE

(C) =) Tegem: (D) el dege
188. fawiw @ wafy -

(A) g (B) T3 (€ (D) s
189. amifaftrdy y& e — .

(A) I arireaTETRETEq (B) ™ SigrEATEOad

(C) I ammyeamyr aeaaae (D) 9 AT anaawd
190. i wEw (9) o) qgTe FUH | —

(A) g (B) watemy (€) warg (D) W@
191. e + faafy soem fFro= afuvesfa -

(A) wefaafy (B) afesafa (C) afeaafa (D) afyzaf
192. 9 urlt S TR FUAYET TEIATE WA —

(A) ¥aa (B) aq (C) wfaare (D) e
193, AU AN aRr War svevd arege YAy gTw & fapsta?

(A) gfeesy (B) whfegm (C) Aqasfagy () EET
194, Fifar — Aftream - wRaam sy TRy F wwa?

(A) w@v. (B) darq wem (C) T wg (D) =@ weE
195. Y’ e e fag srmfoe

(A) gfesmt (B) FqEEfem (C) whfe (D) e
196. w4z wEw unfmard & afa?

(A) yust (B) ToT@R (©) fFremex (D) fREse
197. 9 + 7 + U3 gt & w9 mafa?

(A) WL (B) woira (C) wors (D) WOy
198. OOy gF wETEIsiE —

@) wgdl agew (B) R ager (0 wwd ogew (D) e agew
199. Imf v SxrEvvmfa —

(A) e (B) waf (C) =ras (D) y2¥m
200. WA W@ warm: aifid -

(A) T (B) =ag (C) @wy (D) T
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